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Once children can count one
group of objects they can begin
to combine two sets.

O

Adding 10/100 to 2/3
digit numbers

5 yellow flowers
plus 3 orange
flowers is 8
flowers alto-
gether.

( Comblnlng 2 collectlo@ /

ADDITION STRATEGIES

Countlng on -screened collections

Roll 2 dice. Allow children to see both sets of num-
bers, then cover the larger number up.

| This is a tricky concept! Chil-
dren may initially drop back to
counting from 1.

12345,6,7

Children can progress to using larger numbers within
their counting range. However when using this

‘counting on’ strategy, the second number should be
no larger than 6. E.g 32 +5...32...33, 34,35,36,37

ﬂ’arﬂtion numbers in different w%

Using sticks or straws bundled in
groups of 10s/1s and add 10/20/30 etc.

Progress to 100s/10s and 1s. 432 +
10/20/30 etc

FIIHI | we

For children to partition they need to have a
good understanding of place value -
37is 30+ 7 or 3tens + 7 ones

463 is 400 + 60 + 3 or 4 Hundreds +6tens + 3

ones
" use this skill to odd
364 + 235

300 -

(

Formal algorithm

To demonstrate a depth of understanding of addition, children should be able to progress through and use a
variety of strategies to solve problems and show working. Not be over reliant on one method.
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up that ten frame witl

from the second set and then put the
remaining objects on the next ten

Regroup to make 5/10 \

This is an essential skill.

Using ten frames, start with the larger
number and place that number of
objects on the first ten frame. Now fill

Gart-Part whole \

Being able to see sets in
numbers.
o00
® o
h the objects | see 5+5is ° ..‘ ®
10 and 8 more .o. 0.
is18
First | will fill in 6 N
white flowers on the — ;
ey e f=n | I
ten frame. Then | will | B (s LA Pt
A partition the 5 yellow o = 53 into 50
flowers. I'll put 4 on il 22 and 3
to fill up the first ten —
frame. | still have 1 e
flower left so | will SR
::: :::t“:n;hh:tmx' o @ s can be split into
makes 11 altogether! \@ 2000 )

eeee————————

Bar Model

Bar models are a good method
to help children solve word
problems. They help children
visualise what is happening.

\ /Empty Number Line \

This method can be used to solve
addition and subtraction calculations.
It is also an excellent strategy for
solving problems involving time and

This should be the last strategy children learn for addition/
subtraction. Even when they fully understand how and why
to use it, children should continue to be given lots of op-
portunities to use some of the other methods mentioned in
this leaflet. The algorithm requires less mental agility than
other strategies and children can become over reliant on
\_this method.
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489 Decimals \ 70 24 | / 5 13 i
+ 916 All of the above methods for adding with whole numbers can be applied in 6/10 +9/10 = 1 and 5/10
the same way for addition with decimals. For some tasks, the whole ten
1405 frame can represent 1 and therefore each box would be one tenth. ]I;E m
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SUBTRACTION STRATEGIES

7

Attal t . - : : : . : : S

g cna;::;: To demonstrate a depth of understanding of subtraction children should be able to progress through and use a Renfcr:mhlre
variety of strategies to solve problems and show working, not be over reliant on one.

i Word sequences 6unting back to subtract using screea (Comparing numbers \ / Part-Part whole \

Counting backwards in 1s/10s/100s
from different starting points e.g., 23,
22, 21,20 or 51, 41, 31, 21. Depending
on the stage of the child.

Taking away using real
objects

Children can count back within their number range.
When using this count back in ones strategy, the
second number should be no more than 6

It is crucial for children to explore
subtraction by comparing sets and
finding the difference between num-
bers.

24....23, 22, 21, 20,19 j

difference = 3
Ll L Ll Ld Ll Ld

5 teddies in a shop. One gets
\sold. How many are left?

( Subtracting 10/100 to \.
2/3 digit numbers
Cover the

nl , straws as you

44-10 =34

( Empty Number Line \

remove 10 and see if the child can
visualise how many are left. Repeat
for subtracting 20 etc.

“9 teddies came for a picnic. 3 of
them hid in a box. Count back to find

out how many are left?”
\ 9...8,7,6 J

The difference between 9and 6is 3

This method can be used to solve
addition and subtraction calculations
and it is also an excellent strategy for
solving problems involving time and
money.

Being able to see that a whole
number is made up of different
parts. Children begin to under-
stand that subtraction is the in-
verse of addition. Dominoes are
an excellent resource for this.

/ Count up to subtract \ /

When children understand that subtrac-
tion can mean ‘The difference between’

Bar models are a good method to help
children solve word problems.

I see 5+3=8 :0:
and 3+5=8 o
So 83=5 .
and 8-5=3 */
-
Bar Model \

then this is can be an efficient method
for solving subtraction problems.

ubtract
AM i L 33-"1h

There are 29 pupils in the
class. 17 are boys . How
many are girls?

-
-1 =

74 IS B

1e35+3+9 T}gm;m
tween Thand 83 w 9.

—

This should be last strategy children learn for subtrac- 2
tion with whole numbers. Even when they fully under-
stand how and why to use it, children should continue —
to be given lots of opportunities to use the other
methods mentioned in this leaflet. The algorithm re-
quires less mental agility than other strategies and
thldren can become over reliant on this.

-

Formal algorithm

52

175§ with whole numbers
Sl can be applied in
1577 the same way for e
subtraction with . - -

decimals.
.

>,

Decimals

All of the above methods for subtraction

e B4 i £6.60

1p # £1+ 60p = £1.89
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confidently use a variety of strategies to solve problems and show working, and not be over reliant on one.
Uiteracy Numeraty Health 8 wellneing l * ] ’
1. Groups Of 2. Arrays \ 3. Area Model \
Use real items (sweets, counters, toys) Arrays are groups arrgnged 2 Breadth (row from array) 12x3
and drawings as representations. in rows and columns in the and length (column from
shape of a rectangle. array) multiply to find the
3 groups of 12 12 groups of 3 Always row x column. m area of the rectangle
3 groups of 120r3x 12
¢ COE group ) oo
o | OO 2 +3
%\\ WS eo a0 ®as0eee 8d > D>
®s 000 000 % wo
o é:;>25 e OO OO v » 0 o o
\ j \ 12 groups of 3 or 12xy
6. Formal Written / 5. Partition il 4. Grid N\
A true qn@ergtan@ing d ‘.";; Being able to partition a number to make them A progression from the Area model, and
of multiplication is sl | easier to work with is very important, and can be an informal way of writing or recording
demonstrated by done throughout the progression of strategies. multiplication if a picture isn’'t needed.
confidently using a

Je— 3x12 12:%:3 b

wide range of
strategies. The
formal written sum
should only be used
when confidence in
the use of others has \
been achieved.

> Skip Counting / Repeated Addition kR Times Tables )

Count or add in jumps of multiple. Can be done orally or written. A good indicator for how well a child
remembers multiplication facts, but not
always how well they know how to
multiply. Ask how they know the answer.




r— DIVISION STRATEGIES @

& Attainment To demonstrate a depth of understanding of division children should be able to progress through and Renfrewshire

@ Challenge : Coundil
confi rgmwmm“ﬁ_m_m;@_gmﬁ[ns and show working, and not be over reliant on one.

Literacy Numeracy Health & Welibeing [ '

y il 1. Grouping N ( 2. Arrays ( 3. Area Model \
Use real items (sweets, counters, toys) Arrays are groups arranged Rows (breadth) and total 15+7=3
and drawings as representations. in rows and columns in the amount (area) divide to 2
Children should know the difference shape of a rectangle or find the answer of the
between groups and groups of. square. Row = dividing by rectangle or square.

Colum = Answer
=?

15 into 3rows 15+3=

15 into rows of 3

15into groups of j/

5 into 5 gfoups 15+2=3 \
6. Formal Written 5. Partitioning in different ways - 4. Bar Model TN
A true understanding ||[Being able to partition or change a number to make them easier to Dividing the whole amount into equal
of division is work with is very important. It can be done throughout the parts. Use things to physically share or
demonstrated.by progression of strategies and when working with different numbers. their knowledge of addition/multiplication
confidently using a Moltiolving Uo 1925 BT " amongst the parts to solve.
wide range of N e [ = i@
strategies. The Multiply up to a 72+8
. number within number
formal written sum dividing, continue until | § 1z
should only be used you reach the total 5121213
when confidence in piaes o 1z 2158
the use of others has \Qal times multiplied. / +y2+21=
been achieved.
Skip Counting / Repeated Addition N\ Times Tables )
Count/subtract in Jumps of multuple Can be done orally or wntten
— . w qQy%="12
& ) $0.712-9=8
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FRACTIONS

i Hawa iy Heah & BE e

EARLY LEVEL “I can share out o group of items by making

smailer groups and con split o whole abject into smaller
parts; | understand what g haolf means™

/I;xplare equal and unequal sharing of a se

FfSpﬁII'f a whole into smaller parts to show Thatﬁ\\

equal parts are the same size. Provide
opportunities to half whole items.

fﬂuttlng, folding & colouring activities to

l-\
and understand what it means to have a
‘fair share'.

explore how shapes can be halved in
different ways; creating different shapes,
but the size stays the samea.

P
-{ -
J ;k
.' i~

'|

7

Renfrewshire
Councill

ond vocobulary associoted with froctions and where simple fractions lie on the number line”™

FIRST LEVEL I can show my understonding of how o single item can be shored equally; the notation

"r Explore sharing an item or collection fairfy- use materials or draw pictures to show
that a single item can be shared into equal parts and each part is a fraction.

Maks & identify halves

k Make & identify fifths

1
A quarter is i o LT3
Make & identify guarters half of a
Make & identify tenths half. am e
-f;- e

~

There are different
ways to split shapes
into equal parts.

ﬁul‘tlng, folding, drawing and sorting activities will reinforce that
the greater the number of equal parts, the smaller the size of
the share. I's important that we use multiple representations,
fractions are not just about pizzas!

*How many equal parts have pyouw
split the whole into If you hove spiit
It Inte quarters?

one half

K *How many guarters moke a whole ?

Counting on and back in fractions is an important =kill. Use a counting stick to keep track

ok
_
I

and record counts on a number line.

five 3

one two three
half halves halves 0

four

halves  halves

.
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SECOND LEVEL “T have investigated the everyday contexts in which simple fractions are used and can carry out the necessary calculations to solve related problems™

“I can create equivalent frackions and | can express froctions in their simplest form™

“I can use my knowledge of equivalent froctions to put o set of most commonly used fractions in order”

Use concrete materials and pictures to show
NUMERATOR —how many bits? P

P equivalent fractions. We can simplify fractions using common foctors.
1.1 1 3 ki — 1 2
4= = = can be simplified to make —. 1
303 3 3y 6 z = . =

. 3] 2
DENOMINATOR—how big are the bits? 2is acommon factorof 3 and 6.\ 2

O quarer, = tw A mixed number is made up of a whole number

and a fraction.
1 3
i |

Improper fractions—a fraction where the
numerator is greater than or equal to the
denominator.

—>=>=>=
2°3 4" 5 ) , 4

1z -
Compare unit fractions: .E'i"."""'f"fﬁm"“ 3".3 ﬁad‘””? that are equal  pgyeq num!:ers can be converted into Improper
a bigger denominator = a smaller fraction in size. When we simplify a fraction we find an fractions using equivalence.

Fractions can be made by splitting an object
into equal parts. This is the same as dividing.
The denominator of the fraction is the number
to divide by.

3

=

equivalent fraction that is simpler to make.

ane ane one one one ang 2 '1 E = 2 E

Non-unit fractions of gquantities: sach | sieh | sien | sueh ] osuen ] s f |— = — 5
6 3
].1 =1 one ane
} E{,r 17 =58 third third thirdl ﬁ
3 — -
“ 4 I 4 4 ane o - == I I I I I I I I I I I |
— - " 6 2|} " ’ 1
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